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N RE
Bt REH(AN) | BIELL® |REERGE) | BERG) | MARG% ETERBR®G)
JAL-JTAY L—T& 5T 206,122 319.2| 496,016 169.2 41.6 22.0
AR JAL 93,032 289.9] 220,735 155.7 421 22.6
JTA 85,490 355.7| 222,255 195.8 38.5 21.2
RAC 26,648 330.7 50,050 142.0 53.2 22.9
JAC 952 238.6 2976 112.7 32.0 15.1

N RE
R B4 REH(N) | BIELG) |IREERGE | MER® | MAE®%  AEREE®W
PH=%H JAL 75,319 265.3| 166,534 1405 45.2 24.0
R = JAL 12,407 335.9 45606 196.2 27.2 15.9
B =A% JTA 2,988 210.1 13,5630 132.3 22.1 13.9
EE=3%5 JTA 12,897 317.6 34,155 166.9 37.8 19.8
PHR=FR1E JAL/JTA 10,791 - 22,119 - 48.8 -
PH=EH JAL/JTA 6,517 - 12,216 - 53.3 -
BEf=a18 JTA 1,266 - 3,795 - 33.4 -
== JTA 739 - 1,650 - 448 -
FE =71 JTA 650 - 1,650 - 39.4 -
FEH==19 JTA 397 - 1,650 - 241 -
i =R JTA 7,899 640.6 22,935 204.4 34.4 1.0
RIL=3E JTA 980 - 3,135 - 31.3 -
INA=FPER JTA 699 - 2,640 - 26.5 -
MBE=TEKE RAC 490 - 1,600 - 32.7 -
MFE=5 RAC 1518 523.4 3,000 100.0 50.6 9.7
BEFE=hKkRED JAC 952 238.6 2976 112.7 32.0 15.1
B RET 136,509 3457| 339,091 179.1 40.3 20.9
RHE== JTA/RAC 23,734 2144 56,890 1295 41.7 25.2
MFE=FH1E JTA/RAC 21,020 304.0| 50,455 160.7 41.7 22.0
MBE=AKXKE JTA/RAC 10,813 343.8| 24,130 203.6 448 26.5
MB=TAKE RAC 2,403 487.4 4,550 260.0 52.8 28.2
MB|=1t KK RAC 1,110 256.4 1,650 129.2 716 36.1
REHE=5RE RAC 1,635 367.2 3,100 106.9 495 144
Eh=%EM RAC 1,691 207.2 4,000 129.0 423 26.3
BARE=1ILKXE RAC 1,057 281.9 1,650 134.8 68.2 32.6
RiE=5HEF RAC 3,971 480.2 6,400 177.8 62.0 23.0
Eh=4A18 RAC 2279 382.4 4,300 143.3 53.0 19.9
B R#RET 69,613 2775| 156,925 151.1 44.4 242
EHRmAE 206,122 319.2| 496,016 169.2 41.6 22.0
TEHRIESET 0 - 0 - - -
SR EE 206,122 319.2| 496,016 169.2 41.6 22.0
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B B R
P =3ARER JTA 47 46.9
faht = AR 25 JTA 256 131.0
FIH=HR1E JAL/JTA 208 -
FH==% JAL/JTA 125 -
A =HhiE JTA 11 -
=1 JTA 0 -
hEf=%h18 JTA 0 -
hE==1 JTA 0 -
h &R =FRER JTA 119 116.8
L =3RER JTA 8 -
INA=FRER JTA 0 -
MBE=EXKE RAC 1 -
MEBE=5 RAC 1 271
RS RET 776 193.7
MBE=Ea JTA/RAC 695 84.5
MEF=H1E JTA/RAC 502 77.0
MB=AKE JTA/RAC 126 125.4
MB=FAKE RAC 25 211.3
AMEF=1L K=K RAC 11 128.4
=5 BE RAC 21 83.4
BEOG=%EM RAC 15 109.1
BAAE=1tKE RAC 7 102.2
AiE=5H RAC 34 174.2
BEa=HiE JTA/RAC 17 177.6
B NHRET 1,454 87.0
EHRIESE 2,229 107.6
TEHBESET 0 -
SRS E 2,229 107.6
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